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Postulate |
The state of an isolated physical system is represented, at a fixed time ¢, by a
state vector |1) belonging to a Hilbert space H called the state space.

Postulate Il.a
Every measurable physical quantity A is described by a Hermitian operator A
acting in the state space H. This operator is an observable, meaning that its
eigenvectors form a basis for H. The result of measuring a physical quantity A
must be one of the eigenvalues of the corresponding observable A.

9y — Xt R TR, %) =ibSue
Po =k F(?z,Peltﬁ(?(,ﬁ)



Postulate Il.b
When the physical quantity A is measured on a system in a normalized state
|4)), the probability of obtaining an eigenvalue (denoted a,, for discrete spectra
. ’—— . . .
and « for continuous spectra) of the corresponding observable A is given by
the amplitude squared of the appropriate wave function (projection onto
corresponding eigenvector).

P(a,) = [{a,|[¥)|* (Discrete, nondegenerate spectrum)
In

P(a,) = Z |(af, |9h)|? (Discrete, degenerate spectrum)

dP(a) = |(a]y)|* dex (Continuous, nondegenerate spectrum)

Postulate Il.c
If the measurement of the physical quantity .4 on the system in the state |1))
gives the result a,,, then the state of the system immediately after the
measurement is the normalized projection of [¢) onto the eigensubspace
associated with a,

an Pn |¢>
: A
)
Postulate Il

The time evolution of the state vector |1(t)) is governed by the Schrédinger
equation, where H () is the observable associated with the total energy of the
system (called the Hamiltonian)

L d
th— [(2)) = H()l¥(t)

Z st



